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LABJNDu2-Normhelligkeit I*
I* Ync_YW nc_loox

I* L ABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
* L ABINDU2=IN(A 10+ A2)/(AgyAon) - (X=YTYy)
I* (3,6)=39L ) (18) 890.°(00)-1385
log[I* /I* ,]=0, m,=0,
L* =49, I* =890

1
I* 9=1385,40, A= IB666, A,=0,0876, ¢=0,84

I*16=889,89, A =( ?4, £,=0,0048
Anwendungs-|
89Y=18 1 bereich 0

I*3,6391,38)% =€
: 15,=1
wXy=0,2  xy=5

LABJINDu2
Normfarbwertdifferenz
Yoc=Yw - nc=100,

I* LABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,c)
I LABINDU2=IN(A 17+ A2 (A2uPon) - (X=YTYy)
dY=Agn(A1r+AgnY)=Aon(A1+Ag,X). Siehe CIE 230:2019
dYoq=0,30, Ay=0,6666, A,=0,0876, ¢=0,84
dY;g=0.06, A, =0,014, A,=0,0048
dY3,6=0,02 Y,=18, dY=0,06

AY

>

v 4

1*,=890, dY,=0,06 dY,/Y,=0,0037
ey

Anwendungs-
bereich

LABJINDu2
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,
I* LABINDU2=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I LABINDU2=IN(A 10+ A2 (A2uAon) - (X=YTYy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}+=0,0033, A,=0,6666, A,=0,0876, ¢=0,84
(dY/Y}5-0,0037, A,=0,014, A,=0,0048
(dY/Y} 60,7058 Y, =18, dY=0,06

Anwendungs-
bereich

I*,=890, dYu 0,06 dYu/Yu 000371
1,=1
XxN=0,2 Xw=5

LABJINDu2
Normfarbwertkontrast

Yoc=Yw - nc=100,

1%L ABaNDu2=IN(A 107+ A2Y)/(A2nAon)  (Ynd/100<Y<=Y,o)
1*LABaNDu2=IN(A 107t A2X) (A2 Aon)  (X=YTYy)
YIGY=Y/A g Ag Ao V)IEX Y TA oAt Ag )]

C,=(Y/AY)

I*,=890, dY,=0,06 Y,/dY,=264
log(Y/dY)=2,42 mu=o 13- - ==
(Y/dY4o=298,37 , Ay=0,6666, Al=0,0876,¢=0:8

(Y/dY)=26",76, A=0,014, AL, gy;lecmdungs-
(Y/dY) < 169,70 Y,=18, dY=0, o:a

xN=0,2 |><W—5

Iog(AY/AY )

LABJINDu?2 relative Normhelligkeit I*/I*
1%/1% u Ync‘YW nc_loox

1%L ABINDU2 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,c)
11 ABINDU2 =IN(A 10+ A2 (A2 Aon) - (X=YTYY)
I y(3,6)=391L I ,(18)=890 [* y(90)=1385

I* gofl* =1,55, Ay=0,6666, A,=0,0876, ¢=0,84
I* /1% =1,00, A =0,014, A, =0,0048
I* 3 fl*=0,43,1¥,=889,89 Y=18

log[i* /I* ]=0, m,=0,33
L* (=49, I* =890

LABJNDuU2 relative
Normfarbwertdifferenz
Yoc=Yw - nc=100,
I* L aBINDU2 =IN(A 17 +ARY)/(AnAon)  (Ynd/100<Y<=Yo)
I* L aBINDU2 =IN(A 10+ A2)/(A2uPon)  (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,0876, ¢=0,84
dY;g/dY,=1,00, A,=0,014, A,=0,0048
dY;,¢dY,=0,31 Y,=18, dY=0,06 -
/
I*,=890 dY,=0,06 dY,/Y,=0, 0037

AY/AY,

Anwendungs-
bereich

log [AYY) I (AYIY),]

LABJNDuZ relative

Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS

I* L ABINDU2 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
1L ABINDU2 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)
(dY/Ybg/(dY1.1=0,88, Ay=0,6666, A,=0,0876, ¢=0,84
(dY/Y)g/(dY/Y)=1.00, A =0,014, A-=0,0048
(@YY g(dYY)=1,25 \(uzla dY=0,06

logI(@Y/YY(@Y/Y) =0, m=-013 1

I*,=890, dY,=0,08 dY,/Y,=0,0037 | Anwendungs|

bereich

Iy =1

log [(Y/AY) I (YAY),]

XN=0,2 Xw=5

LABJINDuZ relativer
Normfarbwertkontrast

CIC=(YIBY(YIBY), N oy e,
I* L aBINDU2 =IN(A 10 +A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU2 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, A,=0,6666, A,=0,0876, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A1=0,014, A-=0,0048
(YIdYY g(Y/dY)=0,64 Y, =18, dY=0,06
log[(Y/dY)(Y/dY);]=0, m=0,13




